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PART A: Vocabulary

Directions: Chonse the word or the phrase (1), (2), (3), or (4) that best completes cach sentence.
Then mark the answer on your auswer sheet,

1- It had not rained on the prairie for several months. Because of the drought, the climate
had become very ---—----- A
|) unsteady 2) rigid 3) intense 4) arid

2-  Deserted for six months, the property began to look more like a jungle and less like a
residence—weed grew -------—-- in the front yvard.
1) unchecked 2) unjustified 3) complicated 4) scanty

3-  Can you please --—--—-—---- this last part of the lesson for me; I’m not sure I understood.
1) recapitulate 2) identify 3) postulate 4) recount

4-  Gerry's dissatisfaction with our work was --—---——- in his expression, although he never
criticized us directly.
1) vulnerable 2) bright 3) implicit 4) humble

3~  The world’s coal, oil and gas ------—---- are finite; one day they will run out, so think now
about what you can do to consume less.
1) appliances 2) deposits 3) relics 4) amenities

6- You are recommended to use mnemonics to help vou ---—--—--—- important items of
information.
1) enumerate 2) expose 3) recall 4) withdraw

7-  The lifespan of a mayfly is ———--—--—- » lasting from a few hours to a couple of days,
1) imprecise 2) ephemeral 3) superficial 4) switt

8-  His words to the press were deliberately -------------; he didn’t deny the reports but
neither did he confirm them.
1) mutual 2) essential 3) dogmatic 4) equivocal

9-  Hundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to --—-——-——-- the building
immediately.
1) expel 2) evacuale 3) disperse 4) detach

13- Computers have helped solve some of the mathematieal ---—---—---- which have puzzled
man for many centurics,
1) conundrums 2) caprices 3) artilacts 4) chronologics
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by Galileo  was well
known in most European academic circles.

’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the samc

13- 1) Although 2) As though 3) Because 4y Yel

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Carbon [iber reinlorced polymer. Carbon [ibre reinforced polvmer. or carbon liber
reinforced plastic, or carbon [iber reinforced thermoplastic (CTRP, CRP, CIFRTP, or
ofien simply carbon [iber, carbon composile, or cven carbon}, is an cxtremely sirong
and light fiber-reinforced plastic which contains carbon fibers. CIFRPs can be
expensive to produce but are commonly used wherever high strength-to-weight ratio
and stiffness (rigidity) are required. such as aerospace. superstructure of ships.
automotive, civil engineering and sports equipment. ‘The binding polymer 1s often a
thermoset resin such as epoxy, but other thermoset or thermoplastic polymers, such as
polvester, vinyl ester, or nylon., are sometimes used. The composite material may
contain aramid (e.g. Kevlar, 'I'waron), ultra-high-molecular-weight polvethylene
(UHMWPE), aluminium, or glass fibers in addition to carbon fibers. The properties of
the final CFRP product can also be affected by the type of additives introduced to the
binding matrix (resin). The most common additive is silica. but other additives such as
rubbcer and carbon nanotubes can be used. The maicerial 1s also relerred to as graphite-
reinforeed polymer or graphite f(iber-reinforced polvmer (GFRP is less common, as it
clagshes with glass-(fiber)-reinforeed polymer), The primary clement of CTFRP is a
carbon [ilament; this is produced from a precursor polymer such as polyacrylonitrile
(PAN). ravon. or petroleum pitch. Ior synthetic polvmers such as PAN or rayon, the
precursor is first spun into filament yarns, using chemical and mechanical processes to
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initially align the polymer chains in a way (o enhance the Iinal physical propertics of
the completed carbon liber,

It is stated in the passage that vinyl ester -------——-—---- :

1) is similar to aluminium, or glass fibers

2) includes CI'RP in its binding matrix

3) contains aramid (e.g. Kevlar, I'waron}

4) can be the binding polymer in CFR'TP

The passage points to the fact that sports equipment -—----——-—-,

1) use low-density reinforced thermoplastic

2) may need high strength-to-weight ratio

3) are built of non-carbon but stitt CFRP

4) were madce ol [iber-reinloreed plastic

According to the passage, as an additive o the final CFRP —-—--—-—---,
1) silica is used morc olien than carbon nanotubces

2) graphilc-reinforeed polymer has litile application

3) fiber-reinforeed polymers arc used exclusively

4y aluminium and glass fibers are used together

The passage mentions that the carbon filament in CFRP ---—----—--,
1) aligns the horizontal polymer chains

2) is spun into some of the filament varns

3) can be produced from petroleum pitch

4} 1s usually cither polyacryvlonitrile or ravon

The word ‘enhance’ in the passage (underlined) is closest to ---—--—--—-—-,
1) “improve” 2) *agree’ 3) ‘react’ 4) *function

PASSAGE 2:

‘Transgenerational Design (T'D) is the practice of making products and environments
compalible with those physical and scnsory impairments associaled wilth human aging
and which limit major activities of daily living. The term transgenerational design
describes and identifics products and environments that accommaodalte, and appeal 1o,
the widest spectrum of those who would use them—the young. the old, the able. the
disabled without penalty to any group. The transgenerational design concept
c¢merged [rom his [ederally funded design-for-aging rescarch project, Industrial design
Accommodations: A ‘lransgenerational Perspective. The project's two seminal 1988
publications provided detailed information about the aging process; informed and
sensitized industrial design professionals and design students about the realities of
human aging: and ollered a usclul sct of guidclines and strategics for designing
products that accommodate the changing needs of people of all ages and abilities. The
transgenerational design concept establishes a common ground for those who are
commilled 1o integrating age and ability within the consumer population. Its
underlying principle is that people, including those who are aged or impaired. have an
cqual right 1o live in a unified socicly. Transgenerational design practlice recognizes
that human aging is a continuous, dyvnamic¢ process that starts at birth and ends with
death, and that throughout the aging process, people normally experience occurrences
of illness, accidents and declines in physical and scnsory abilitics that impair
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one's independence and lifestyle. But most injuries, impairments and disabilities
tvpically occur more [requently as ong grows older and cxperiences the eflects
of senescence. Transgenerational design benefits all ages and abilities by creating a
harmonious bond between products and the people that use them. It satisties
the psychological, physiological, and sociological [actors desired—and anticipatcd—
bv users of all ages and abilities: safety. comfort, convenience. usability, erconomics
and accommaodation.

We may understand from the passage that, prior to 1988, ——-——--- :

1) human aging was considered as a dvnamic process

2) age was not an important for the consumer population

3) industrial design professionals were hardly sensitised to the realitics of human aging
4} industrial design professionals had only a few set of guidelines for designing products
According to the passage, TD products —--—-———-,

1} can be equally used by the young and the old

2) start at birth and end with death for their usc

3) are not usually limited in terms of lifecycle

4) get federally-approved design-for-aging funds

The word ‘ergonomics’ best refers to the words -----—----- in the passage.

1) “people’ 2) “bond’ 3) ‘users’ 4) “factors’

We can conclude from the passage that the basic principle hehind Transgenerational
Design is the concept of ——----—-—- ;

1) *daily living’ 2) ‘unified society’

3) “sensory abilities’ 4) “injuries and impairments’

The word *scneseence’ in the passage (undcerlined) is closest 10 -——-—--m-———-,

1) “illness” 2) “lilesivle’ 3) *dependencee’ 4) ‘aging’

PASSAGE 3:

A protolype 18 an carly sumple, modcl, or releasc of @ product buill 1o test a coneept or
process. It 1s a term used in a variety of contexts, including semantics, design,
electronics. and software programming. A prototvpe is generally used to evaluate a
new design to enhance precision by system analysts and users. Prototyping serves to
provide speceilications for a real, working system rather than a theoretical one. In some
design workllow  models, creating a  prototype {a process sometimes  called
materialization) is the step between the formalization and the evaluation (of an idea).
Engineers and prototyping specialists seek to understand the limitations of
prototypes 1o cxaclly simulate the characieristics of their intended design, 1t is
important 1o realiz¢ that by their very definition, prototypes will represent some
compromisc Irom the [inal production design. Duc to diflerences in matcrials,
processes and design fidelity, it is possible that a prototype may fail to perform
acceptably whereas the production design may have been sound. A counter-intuitive
idea is that prototypes may actually perform acceptably whereas the production design
may be Mawed since prolotyping malerials and processes may occasionally outperform
their production counterparts. In genceral, it can be expected that individual prototype
costs will be substantially greater than the final production costs due to inefficiencies
in materials and processes. Prototvpes are also used to revise the design for the
purposes of reducing costs through optimization and refinement. It is possible to use
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prototvpe testing to reduce the risk that a design mav not perform as intended,
however prototypes generally cannot eliminate all risk. lThere are pragmatic and
practical limitations to the ability of a prototype to match the intended final
performance ol the product and some allowances and engineering judgement are olien
required before moving [orward with a production design.

26- It is possible, according to the passage, that a prototype --—--—---—---- "
1) skips the semantics part of commeodity production
2) costs [ar below the real manulacturing costs
3) perlorms better than its production counterpart
4} fails at the very stage of its production design
27-  Which of the following, according to the passage, is the correct order of components in
the proeess of ‘matcerialisation’?
1) *evaluation™ = “prototype™> ‘lormalization’
2) *formalization’ > ‘evaluation’—> ‘prototype’
3) "evaluation’—> ‘formalization’=> *prototype’
4) “formalization” = “prototype’ > “evaluation’
28- It is stated in the passage that a prototype is --—--—--—--,
1) evaluated by users as well as svstem analvsts
2) an essential part of software programming
3) compromised by faulty production processes
4y in lact, a Mawed picce of production design
29-  All of the following about a prototype are correct except that it --------—-—-,
1) is used to simulate the characteristics of the intended design
2) represents some compromise from the final production design
3) matches the intended final performance of the product
4y is used to reduce costs through optimization and refinement
30- The word ‘sound’ in the passage (underlined) is closest to ----—----——-,
1) ‘complex’ 2) ‘fine’ 3) *cheap’ 4) *weak’
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